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ES CMA/Karyotype Risk Difference Risk Difference

Study or Subgroup  Events Total Events Total Weight M-H, Random, 95% CI M-H, Random, 95% CI
Boissel 2018 0 1 0 1 1.7% 0.00 [-0.85, 0.85]
Deden 2020 2 3 0 3 3.7% 0.67[0.09, 1.24] —_—
Greenbaum 2019 0 2 0 2 3.4% 0.00 [-0.60, 0.60]
Jelin 2020 1 1 0 1 1.7% 1.00 [0.15, 1.85] —_—
Lord 2019 4 13 0 13 17.4% 0.31[0.04, 0.57] s —
Mone 2020 1 3 0 3 3.7% 0.33[-0.24,0.91] B
Petrovski 2019 2 8 0 8 11.2% 0.25 [-0.08, 0.58] -
Sparks 2020 12 30 0 30 37.9% 0.40 [0.22, 0.58] —
Zhou 2020 4 14 0 14 19.4% 0.29[0.04, 0.53] - =
Total (95% Cl) 75 75 100.0% 0.34 [0.23, 0.45] -
Total events 26 0

ity: Tau? = - Chi? = - - 2=
Heterogeneity: Tau? = 0.00; Chi* = 6.40, df = 8 (P = 0.60); I’ = 0% = s 0 o5 7

Test for overall effect: Z = 6.10 (P < 0.00001)
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hi* = 5.52, df = 7 (P = 0.60); I = 0%

Test for overall effe(( Z =5.63 (P < 0.00001)
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